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:�	��� ا����ل ا���
����،ا��ي ���ن �� ا�
	�د�� ا������  

 
�ت ا� ��	
δ .!��آ��������ا� γ و  ، β ، α  

 
. K 
% �$���� ا���ازن!& ����' �
  و*8/ ا���ازن ، &��% &�اآ�7 �45�6 ا��3اع '����، 0�1./ .�رج ا��+�*( )�

 
��/ار �/ون وA/ة ، وه� ? &�	5< =�ى �/ر;� ا���ارةK                '���� ا���ازن    .  
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  S2O3
2- (aq) وأ����ت '��آ�����ت   I

−

(aq) ت ا���دور����وأ  I2(aq) V '���8 ا���د :����ي *%5 ،   ���� ����� ����� �����  
.S4O6

2-(aq)  ت����ت ر!� � ����
  وأ
:ه-, ا%���� * ��� �(� ) آ������ ���د%��   

                           
:ا%��آ�6 ا%���5 %2) �	 ه-, ا4��اع ا%�2�����* �1 ا%��0/ ه�  

[ ] LmolOS o /3,02
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[ ] LmolOS /02,00

2
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�ل ا����ل. 
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أي ا%���� * (.   K �) �9رج ا%�(� ) 
Nول ��� ��!�* ا%��ازن* !M(*  ��* ����ر ���� �
  آ������* وP1 ا%�O�J ا%-ي 

.( KQr ≠  Qر �� دا�����  
	��5
5 >��* �9رج ا%�(� ) ا%���ون !���ل آ������ ��� �JJ2�
 ،*A�% (�1 آ.     p 

.K                                           p  ا%���* �R ��!�* ا%��ازن ه-,���رن �2�����* ،ا%���� * ا % ا%������ %���ر  5��%
5 ا%�O�Jو 
:*J2�� ث ���تT� ك�Jوه 

            Qr=K    :     ا%���� *  ��2ن �1 ��%* ��ازن و� �RV0 4ي ���ر.  
و
�W<�J ا%���م [ ] [ ]δγ DC . Qr  �6ا
5 ا%�</ يأ   :  *��< 5
 Qr<K   ����ر ا%���� * �1 ا%�O�J ا%-ي 
Nدي إ%O �6ا

. Qr=K : إ%O أن 
Y�M ا%�0رج �<�و
� ل [ ] [ ]βα BA .  
.(1) أي ا%�O�J ). ا%�O�J ا%���Z��1(ا%���� * ����ر  .  D C و  
�اP1 وه� ��  O�Jا�] ��2ن��J%ا   

و�6ا
5 ا%���م [ ] [ ]δγ DC . Qr  أي �W<�J ا%�</     : *��< W<�J� O%دي إN
 Qr >|K  ����ر ا%���� * �1 ا%�O�J ا%-ي 

. Qr=K : إ%O أن 
Y�M ا%�0رج �<�و
� ل [ ] [ ]βα BA .  
 . (2) أي ا%�O�J ) ا%�O�J [�� ا%���Z��1(  ا%���� * ����ر B و A 
�اP1وه� ��   O�J� ت ��2نT �)��%ا   

   
�G��5��� &��ن '���� ا���ازن : /8*k  E��8+�د �1 �	�د�� ا��+�*( �1 ه�K ا����� �!�	
(. آ��5���ن ا��+�*(  104 أآ�� LM=.  

  

 
�6�J ا%��0/ ا%��%� :  
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113 )( vcCOOHCHni =                          333 )( vcCOOCHni =−  
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 �����:ا%���ل ا%�2����� ا%-ي ���ن !� ا%���د%* ا%��%�*  
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 mol210.5 − III و  5
��ت ا5�%�
�	 أ mol210− ��6ج !���5 . 2,3=K ،ه� C°25 ��!�* ��ازن ه-ا ا%�(� ) ،  5J درD* ا%��ارة   

*V)%ا 	�2 ��F �1 ا%����ل ��h�. �	 ا%��ء ا%���� ،و mLV 500= E�� �1 II  5
��ت ا5�%�
�	 أ mol210.2 − ��ت ا%(V* و  �	�
  ا
ا%���� *؟  ه-, ����ر%  ������ا%�O�J �� ا%) 1             
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:*o���� 
  ���<�* ا%��5م ا%�d���< q��� E%  ���dJ ا5�%
*، p1ن ا%���� * ����ر  ��k� آ-%^ إ%O أ Qدا���.  

   10 ≤≤ τ     �J
  و5%
maxx

x f=τ   ���dJ%ا%��5م ا *�>�:  


�5ث E% ( �)�%ا     . ⇐ 0=τ   إذا آ�ن -
.     ا%�(� ) آ��  ⇐ 1=τ   إذا آ�ن-

⇐ .     ا%�(� ) ��5ود 0<τ   إذا آ�ن-
 

 rاP�1��%و%� ا.  


